H & 0l & AHS B Ml A

0248 = 3 3| Lita| ==X

A FOI=RID
M KASISXIEOIH S (ASI=X/AE =R
cI9l: XIMALEI=R BOlH 2%

)

SA - HY - S9I(3) - HIRAY - BAS o &r 7| 3 o HDS2
Fe=X 25,606,728 25,083,552 523,176
= 13,590,100 13,478,811 111,289
N 676,706 676,706 0
Jl 43,000 43,000 0
== 2,322,469 2,284,475 37,994
= 8,716,810 8,270,419 446,391
= 257,643 330, 141 AT2,498
NSARISXEAM 2 (ARISX/ARIS XL 112,429 111,829 600
== 17,694 17,694
= 94,135 94,135
= 600 0 600
KSARISA g2M 29 103,741 103,141 600
& 16,048 15,048
T 88,093 88,093
= 600 0 600
NGMEISXEAM 22 (124H]) 35,841 35,241 600
= 7,048 7,048
o 28,193 28,193
= 600 0 600
101 2124H| 36,841 35,241 600
= 7,048 7,048
o 28,193 28,193
= 600 0 600
M ORINZZE2NSE S 35,841 35,241 600
OXN A2 ZE M dEa2 12|
4 35,841,0003 18«14 35,841 35,241 600
T 7,048 7,048
Ea 28,193 28,193
= 600 0 600
=20t & 22l & N (MSX/EE) 1,115,636 1,003,484 22,152
= 128,420 102,020 26,400
o 987,216 991,464 N4,248
=)t 2& 2 & X& 1,115,636 1,003,484 22,152
S 128,420 102,020 26,400
= 987,216 991,464 N4,248
SEE =Y 2D S 22| 3,920 6.800 22,880
101 @124H| 3,920 6,800 22,880
M ORINZZE2NSE S 3,920 6,800 /2,880
OFsE 8 SHIIEY S 21|
&4 3,920,000 3,920 6,800 2,880
SISLA = 21,720 22,400 2680
301 EetE2 N = 1,720 2,400 2680
11 #AIAHIXIE S 1,720 2,400 A680




fA: ==X
M It EE 22l 2 N (MIIEX/EE)
&2l 20 22 2el € X& (SH &)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
O8sY =44 ¥4 B2 U2
&3 1,720,000& 13 1,720 2,400 2680
6- 2588 JIE&AL JHZ 6,712 7,400 A688
301 22N = 1,712 2,400 A688
11 EAAHIXIRS 1,712 2,400 688
O6.258 % M74=3 JIESHA A EEIHH
o ZE 1,712,000& 12 1,712 2,400 688
dtdE FEKRSEN ¥ RSEN HUl=E X 108,840 82,440 26,400
< 108,840 82,440 26,400
301 2N = 108,840 82,440 26,400
=S 108,840 82,440 26,400
01 Al EEATZ(2REZMR) 108,840 82,440 26,400
Odctde Fd73L o=
& 108,840,000& 14 108,840 82,440 26,400
S 108,840 82,440 26,400
Z0He!l =X S (A SX/FHLAHSKA) 8,106,392 8,078,084 28,308
= 3,676,3%4 3,641,881 34,513
= 898,083 889,554 8,529
[ia 3,360,433 3,303,778 56,655
= 171,482 242,871 AT1,389
ZOHQ! MeEord X 5,762,626 5,713,713 48,913
= 3,676,394 3,641,881 34,513
S 563,336 569,179 4,157
= 1,433,696 1,423,453 10,243
= 89,200 89,200 0
SEME MU A B K& 102,793 124,800 A22,007
= 71,955 87,360 15,405
= 9,251 11,232 1,981
[ias 21,587 26,208 A4,621
307 212t01™ 102,793 124,800 N22,007
= 71,955 87,360 215,405
S 9,251 1,232 1,981
[ia 21,587 26,208 AN4,621
05 BIZt2(Er = 102,793 124,800 N22,007
OgZMEMtIA HeX X
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S 9,251 11,232 1,981
= 21,587 26,208 N4,621
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s 1,250 706 544
301 LENZ 6,250 3,528 2,722
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SAEAE 645,950 649,750 /3,800
= 515,000 515,000 0
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OSEAHIZEIAL E2E01HI
Z& 1,000,000 *x2H 2,000 4,000 A2,000
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A DSAH Y 2 22lHA RE(MEISXI/ALEIS X2
SRl OSA O X 22 HAH A= EER=E)
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DA Ol & 22[HMA = (ALRISXI/ALEI S X8t 15,000 26,784 A1,784
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= 3,200 3,000 200
= 0 11,784 A1,784
LSAF DS ol A 29 11,000 23,759 A12,759
= 5,500 5,987 NABT7
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= 0 1,784 N11,784
101 QI2AH] 0 14,034 A 14,034
= 0 1,125 21,125
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= 0 450 2450
= 0 1,784 A,784
M IRIMZZ2S 2 0 14,034 A14,034
OL=AF 0le & 2l MAFS 0 14,034 A14,034
—JlE2= 35 0 0 10,097 10,097
= 0 10,097 10,097
-5+ Zd 03 0 2,051 »2,051
=2 0 182 A182
< 0 110 2110
= 0 72 NT2
= 0 1,687 N 1,687
—AlBIEE8E 35 0 0 1,386 N1,386
=2 0 693 2693
< 0 415 N415
z 0 278 A278
—HE=JH 35 0 0 500 2500
= 0 250 2250
< 0 150 A 150
z 0 100 2100
201 er=23y| 2,400 0 2,400
= 1,200 0 1,200
< 720 0 720
= 480 0 480
2 s5=34l 2,400 0 2,400
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